Q’s Pattern Total Q’s Obt Q’s Total Marks
Part A llwl\ég,l}];, MF, 1M 20 20 20
Part B 2 Marks 08 04 16
Part C 3 Marks 10 07 30
Part D 4 Marks 06 04 24
Part E 5 Marks 06 30
Grand Total

= Percentage distribution of marks based on objectives

Parts Q’ Pattern Total Q’s
Part_A 11\4“(':[:‘2”}]3 ME. 1M 16/16
Part B | 2 Marks 04/08
Part C | 3 Marks 07/10
Part D | 4 Marks 04/06
Part E | 5 Marks 03/06

wEIRT

Objectives Total Marks | Total Q’s %
Remember 36 18 30
Comprehension 48 22 40
Appreciation 24 07 20
HOTS 12 03 10

total 120 50 100




= Blueprint of unit-wise allocated questions based on objectives
Lessons HZErs Remember Comprehension | Appreciation HOTS TQ's | T™'s
1 (23|45 |1 ]2|3 4|5 |1|2]3 /4|5 23| 4
Lesson_1 5 1 1 1 3 5

Les;on 4 1 1 2 4
Les;on 4 2 ) 4 4
Leszon 4 1 1 4
Leszon 4 1 1 2 4
Les(sSon 4 1 1 4
Les;on 4 1 1 2 4
Lesgon 4 1 1 4
esson |4 | 2 2 4 | 4
Lesson

10 3 1 - 1 3
Lesson

11 3 1 1 3
Lesson

12 g 1 1| 4
Lesson

13 4 1 1 2 4
Lesson

14 g 1 1| 4
Lesson

15 4 1 1 2 4
Lesson

16 g 1 1| 4
Lesson | 49 1 1 2 | 10

17
Lesson | 47 |5+ |3 1 4 2 1] 2 1 15 | 47

120 (1066 (410|108 |12 |8(10(-12[12|-(10 -1 =112 46 | 120

Grand Total 36 (14) 48 (22) 24 (7) 12 (3)

* Indicate match the following question, (Q No. is 16 ) under the Q no. 16, there are 5 Q’s




